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1. FafafEa 3 @ 19 Wfae § T ReR T w33

T UGSl SfeRT UT?
Who among the following was the first recipient of
Nobel Prize in Physics?

(@) TFEWHART AR (b) IRy FRIS A
Gtex formm Wilhelm Conrad Rontgen

Hendrik Antoon Lorentz and

Pieter Zeeman

(© TErH T Iaa d) O g ok B gt

Antoine Henri Becquerel Pierre Curie and Marie Curie

2. WRgd WU iR A A fra o A fRa

In which of the following states is the Bharhut stupa

situated?
(@) SWRUSK (b) iy U=
Uttar Pradesh Andhra Pradesh
(© fRumEa e (d) TeOT™

Himachal Pradesh Madhya Pradesh

3. difsan & g & aa @IRE da) § g1 I |l
T 14T 37
Why is Sodium kept immersed in Kerosene Oil?

(@) P T8 s (b) i gg St

siffpaTeie 31 ST g
Because it is highly reactive  Because it is highly
flammable
(0 e agHH (d) P TG 3rfeH
Sifferameiter g1 IR g
Because it is low reactive Because it is highly
inflammable
4. we-afeT, fafm I ¥ Aoy A
TaE
‘Jat-Jatin’, "Jhijhian Dance’ are popular folk dances
of
(a) for (b) WHT
Bihar Madhya Pradesh
© SWUSY (d) IoRId
Uttar Pradesh Gujarat
5. HRA PR fufraw, 1858 F a1¢ YRd fHuat
Jefrar & smame?

Under whose supremacy did India come, after the
Government of India Act, 1858?

(a) WERMI Tferoms fgdla  (b) I+ TetaigT
Queen Elizabeth Il Queen Alexandra
(€ WERMFIUREYIYT (d) HERMI fageiar

Queen Elizabeth | Queen Victoria

6. ATGTS (NABARD) $1 TITYT &1 fyeifvan

CARER I
NABARD was established on the recommendations
of .

(a) TSRS Ffffd (b) . TR Afffd

Gadgil Committee C. Rangarajan Committee

(¢ ot Rrevmq afffa (d) TH TH. gdarar gEfa

B. Sivaraman Committee

7. R4 ¥ gaifye f$g yer $t frd) urg st 32

Which type of soil is found maximum in India?

M.L. Dhantwala Committee

(@) ord fagt (o) <pTci forg)
Red soil Black soil
(0 e g (d) oG gt
Laterite soil
8. %m?rﬁ', AP Aagrar feaw Y 7T ST
|
In India, National Voters' Day is celebrated on
() 26 (b) 24 TRad
26 March 24 February
(0 27 fER (d) 25 e

27 December

9. 5791 Ffle RIWPR A fHA T~ favan mar 82
Who has been awarded the 57th Jnanpith Award?

25 January

@ SHfidE gy (b) A B
Amitav Ghosh Nilamani Phukan
(© G Ot (d) SifFHan sregaa
Damodar Mauzo :@ﬁ'ﬁ
Akkitam Achuthan
Namboodiri

10. 3FTRA 2023 ® HRA A B9 A1 TG FRET fawe=
fcier ot |iv fam
Which maritime surveillance aircraft hands over by
India to Sri Lanka in August 2023?

@ SARMI-38 (b) TR f-20K

llyushin 11-38 Mikoyan MiG-29K

() ST P-8l T d) SiHmR-228

Boeing P-8 Neptune Dornier-228

11. FafafEe Riee wel & A frad argear 9t sfas
At 32
Which of the following Heritage sites has the
Dravidian style of architecture?

() I (b) TR
Hampi Ellora
(© TR (d) PIUTH
Khajuraho Konark

12. 25°C BRAEEC Wrd R fhd fEH & war &2

25°C is equivalent to how many degrees on the
Fahrenheit scale?

(@ 75 (b) 87
(0 80 d) 77

13. fordbe Ay #u, 1983 Fufofaa d @ fPg WA W
3raford forar war ur?
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Cricket World Cup, 1983 was held in which of the
following places?

(a) is (b)  Sffegferar

England Australia

(© dxIB (d) HRd

West Indies India

14. 3N Aigal H A0 & e LECEEIC
3P 8
The is the most common unit for
measuring ozone concentration.

() = b) s

Chain Rod

() e AR (d) SIeE 3PS

Statute mile Dobson unit

15. TS 3N Bt T &1 99 A1 o1 O 321 9

8t & wdeat &) w1 we & fore fAgaa favar ar
What was the name of King Ashoka’s daughter
whom he appointed to carry out the duties of a
Buddhist missionary?

(a) TRIadt (b) THHA
Padmavati Charumati
(€  SrEffEE d) uftE

Asandhimitra Sanghamitra

16. YRAW vfayq & Fufafea & ¥ $19 91 3gde
Wﬁ%ﬁumﬁwmﬁmaﬁwm
BT &7

What was the name of King Ashoka’'s daughter
whom he appointed to carry out the duties of a
Buddhist missionary?

(a) 3fTG 71 (b) SrI=a 77
Article 71 Article 77
(© 3fI®a 73 (d) SfI=a 75
Article 73 Article 75

17. HRd § GFP & a1a1 U4 & T8I U 9 f5d UoR 3t
gt urs et 82
Which type of soil is predomainantly found in the
Deccan lava tract in India?

(@) g fHEt (b) @ At
Alluvial Soils Red Soil

() et firgt (d) wieRTse firgh
Black Soil Laterite Soil

18. ®RAERA TW® A & fiftm yor # Sfew
Tt ot gifar 3, Tt & FreTar o1 g 32
Where can curcumin, a compound that shows a
variety of biological activities, be extracted?

(a) THIRY (b) 3MERe &b Ul
From tomatoes Ginger plant
(€ BAPIIH (d) TeTAPDNIF

From turmeric plant From sandalwood plant

19. G20 ¢HIAIT 2023 FT faoar fra Ny fpar mar 22

Who among the following announced the winners
of G20 TechSprint 2023?

(a) R Reid d% (b) < Asheian fafies
Reserve Bank of India Team Secretarium Ltd.
© BIS (d) 19R3gHl

Both 1 and 3

20. Tid-fiet JURT 7 IR Ht TH URGHT TG DI
Ut FrIBRY ufkug & A1fia H= 31 fUsR faan
A IR B HRiSR] ufkug | WfHe g4 arar ugd
YR B A2
Morley-Minto reforms empowered the Viceroy to
nominate one Indian member to his executive
council. Who was the first Indian to join the
Viceroy's Executive Council?

(a) WfugHa R (b) Tz wTE R

Sachidanand Sinha Satyendra Prasad Sinha

(© . 3R IESIR (d) ST olg U

B R Ambedkar Dr Rajendra Prasad

21. ©g fAdH 11, T2, T3, T4, T5 3R T6 (3Ta=T® 1L fb
S wH H) Te 7Y & IRT M 3R B 3R
T P YA A §1 T4, T6 & 913 3R A g R”_IM TR
8175, T2 & FApead a¢ R W I T1, T3 & ¥
IR A R WM R 31 T3, T4 & Nwveau ors ik g1
gfe g9 15 & 918 3R R &t we e
FXd g, ° 76 SR T5 F dig frat fAei= 3@ 911 &2
Six toys T1, T2, T3, T4, T5 and T6 are kept around a
circular path (not necessarily in the same order)
facing inside. T4 is second to the left of T6. T5 is to
the immediate left of T2. T1 is second to the right
of T3. T3 is to the immediate right of T4.
If we start counting the number of toys towards the
left of T5, then how many toys are kept between T6
and T5?

(@ 1 (b)y 3
(o 2 (d)

22. BAA @ B B THgW ¥ TRafa WY W
HHIHROT WG g
19+63+7-8x12=79
By interchanging which two signs the equation will
be correct?
19+63+7-8x12=79

(a) x 3R + (b) — 3R x
x and + —and x
© +9R- d) xR+
+and - x and +

23. 3ifdpd &1 a1g @ f ITPT SFAfe 8 3TRA & 9 1¢ &
AP 12 SN A UEA B | SHPI A B 4TS & % I
e 5 3R & 91 §, Afhd 10 3R & Ugdl |
3T P fprd faa SaaT S=fea 22
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(a)

(@]

25.

(a)
(@]

26.

(a)

27.

Ankit remembers his birthday is after 8th August
but before 12th August. His mother remembers his
birthday is after 5th August but before 10th August.
On which day of August is his birthday?

8 by 9

7 (d)y 10

39 ooy Ml o1 9a= o3 ot § TS ol & 59
YN & & # 9Afd 8 Rz ) srgafa i @)1
Select the option figure which is embedded in the
given figure as its part (rotation is NOT allowed).

AlA

—

VIV

(b)

Biin
HIIrH

e fAf¥@ ®Is uTw #, ‘FISHES’ &Y '69198519" ,
‘BODY’ ®Y 215425’ & &Y # T &irar ¢ |

39 BIS YT H 'LEAD' F foIE s =T 82

In a certain code language, ‘FISHES’ is written as
‘69198519, ‘BODY" is written as '215425’.

What is the code for ‘LEAD’ in that code language?
215412 (b) 121514

12511 (d) 12514

(d)

% (Aif¥a $e Ut 8, 'MISTER' F1 '925301' & =T
#, 'UNCLE' P '84670' & =T #, 3R 'SEN' FI '504'
F U A peds forar Tar g1 I HIET H ' MISTIC' B
5 UBR Heas fovar smem

In a certain code language, 'MISTER' is coded as
'925301", 'UNCLE' is coded as '84670", and 'SEN' is
coded as '504'. How will 'MISTIC' be coded in that
language?

936571 (b)
876523 (d)

925326
367829

T HyAY 3R sl @) eagd® ufew | sy A

& T3 AP B T AHEBR, U B I JId T

3T Ut gl ), fAvla Fifsre fr few 1 ol &

gmﬁwéaﬁmmﬁwmﬁmm
|

DY

LIt P, QB

N.$5Q, Z7I

.9z, T8l

forem:

L$ST,PEI

IL.FBP, 28I

N.#E T, ZE 81

Read the given statements and conclusions
carefully. Assuming that the information given in
the statements is true, even if it appears to be at
variance with commonly known facts, decide which
of the given conclusions logically follow(s) from the
statements.
Statements:

I. All P are Q.

Il. Some Q are Z.

Ill. Some Z are T.
Conclusions:

I. Some T are P.

Il. Some P are Z.

lll. No T is Z.

@ UH sy SR (b)  FHad w11 SRR
T PRAT® IRAT S

None of the conclusions Only conclusion Il follows

follow

© Haa sy WU (d) Ay i1 SR 1 gl
FRATS 3FTERU B §

28.

(@

29.

Only conclusion | follows

gfe TP SUUT I AB I@T WR I@T A1E, a &} 1E IR
Wﬁ%aﬁqvﬁmwmaﬁww

If a mirror is placed on the line AB, then which of
the answer figures is the right image of the given
figure?

A
9|k |b
dipld
P99

B
dld|P did|P
B|9|b mi®|b
PIP|9 PIPle

o
@
9
o
[ B
w

NEIE

SEE =
(d)

Frafafea afiexo & 7 & ®IA W |1 M, ui%
4 O '~ Y TR e T oY A xR

Wt R wow faar e

20x5-10+5+2=7?

What will come in the place of ‘?’ in the following
equation, if ‘+" and ‘-’ are interchanged and also “x’
and ‘=’ are interchanged?

20x5-10+5+2=7?

A
o

o
P

Mob. - 7737404085, 8209244090

Page 4




YOUR INSTITUTE NAME WITH LOGO

(a)
(@]

30.

(a)

Only Conclusion | is true

(@]

6 by 2
4 (d)y 8

fFafafEa & § F19-a1 er-9gg § 7S J@ar o

UyaTa® g (2) BT I Am?

HQMR, IRLQ, JSKP, KTJO, ?

Which of the following letter-clusters will replace
the question mark (?) in the given series?

HQMR, IRLQ, JSKP, KTJO, ?
LUIN (b)
MUJN (d)

39 faed o1 99 Hifore ot fiy Y wreg & 39 el
%H B giar § o & 3 T Siiish Isga &
fawrs 4

Select the option that represents the correct order
of the given words as they would appear in an
English dictionary.

1) Machine

2) Macabre

3) Machinery

4)Macaroni

5) Machete

4,1,52,3 (b)
1,2,3,4,5 (d)

LUJO
MUIO

2,513,4
2,4,5 1,3

T Uy §, T Syl & T1¢ <) ey 1 8k 11 few 7w
g1 3Mus! AT T HYF F TG AEAT §, WA &
=gt ¥ U wdia 819 8 8k v fAuia
Fiford & fou e fAewut # ¥ 19 91 fAsed "=
¥ ¥ 7d aat F i g gu oft fow 1w wyAT @1
AP TU F IR0 HRaT 2|

Y TS FeH AUTHeH 7

PIE SUIEHT gTa eI B

PO gld A B

e

). 9 A $H $© U FIC 8

1) BE SAYTEHE P &I 1

In this question, three statements followed by two
conclusions numbered | and Il have been given. You
have to take the given statements to be true even if
they seem to be at variance from the commonly
facts and then decide which of the given
conclusions logically follows from the given
statements disregarding commonly known facts.
Statements: Some flats are apartments.

No apartment is a hall.

Some halls are rooms.

Conclusions:

1) At least some rooms are flats.

Il)No apartment is a room.
FId TP 1T (b) Pad TSy 1 TG
Only Conclusion Il is true

e | iR IEHITd  (d) T fspy R I
g TJag

Both Conclusions | and Il are  Neither Conclusion | nor Il is

true

true

33.

(@]

34.

(a)

35.

& ¥ IW il § |, IW I SpfA BT T
FIfE, R uy anepfa fodl/MAfRa 21

From the given answer figures, select the one in
which the question figure is hidden/embedded.

2

A\
P

(b)

(d)

PIHf It TP ufdd § A a1 | 10971 § 3R B & & oai
B 1 (U S1TE STUH § Sga UR A S0 ¥ 15d1 g1 Siren
81 ufda # foramt wiw &2

In a row of crows, A is 10th from the left and B is
9th from the right. A is 15th from the left when they
interchange their positions. How many crows are
there in the row?

31 b) 19
23 d) 28
o v faweul ¥ & Wefia 2rsg & gfAwl

TgYS : IR = WY : ?
Select the related word from the given alternatives.
Quadrilateral : Four :: Hexagon : ?

(@) 9¥g% (b)y =R

Six Four

© o= d) UH

Three Five

36. e ¥@T AB WR TS UUI I@T WG, of &t ¢ IR

(a)

(@

rpfadl ® & -t srpfa §f 78 npfa &1 T
ufafaw 82

If a mirror is placed on the line AB, then which of
the answer figures is the right image of the given
figure?

A

(b)

(d)
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37. FafafEa vy &, ar wen a9g fiu T § 1 vl aug
# 9 wet fdt 1 fedt o/ fFraw/awa= grT oo
TR ¥ vwia g 9 e ad/Aamaas &
TYR W F9M ¢ 1 73T 7 fFwvedl # & fww &1 997
Biferg|
In the following question, four number groups are
given. In each group the three numbers are related
to each other by some Logic/Rule/ Relation. Three
are similar on basis of same Logic/Rule/Relation.
Select the odd one out from the given alternatives.

@) (12, 24, 41) (b) (13, 26, 43)

© (16,32, 49) (d) (17,34, 53)

38. Fufefaa uy & R o fapwul & @ wdft@
3H&R/3M&RT Bt gAY

GREAT : TERAG :: STONE : ?

In the following question, select the related
letter/letters from the given alternatives.

GREAT : TERAG :: STONE : ?

(@) GONTS (b) EOTNS

(c) ENOTS (d) ETONS

39. A9 SR & U 3R fh 3P MYR R UY BT
IR difora

1)'A+B AAfgfH A BB HIRI
2).’A-BAIT2F A BF TR
3)'A*B A ASgfH A BHTRATRI
4)'ApB A AETF A BBTUE I
faddfPasraud e fe D, A S WAFTE?
@ D*C+B+A () D*CBB-A
(0 D*C+B-A (d D*CBB+A

40. frufafEd A #19-a1 fdeeu s A R &2

Find the odd word from the given alternatives:

(a) T (b) Hy
Vapor Mist
(0 sfemqfy () DI
Hailstorm Fog

41. TR IR & forg sifea w=Tet 1@ o1l 98 fRR o1a
® 12 faft e & wfa & 19 gemar 31 T g @)
T H1 A S YRT & AJHA -1d ga™ Bt |
YRT & YfAHd A1d T | GRAT G0T TaT ¢ | "4t
B YRT P A J1d DHOTI
Ankit went to Manali, for river rafting. He rows at
the rate of 12 km/h in still water. To cover the same
distance, it takes him twice as long to row up as to
row down the river. Find the rate of flow of the

river.
(@) 6 fopeitaer (b) 4 fopeitder
6 km/h 4 km/h
(© 8 fedider @ 2 feHde
8 km/h 2 km/h

42. TP SR a9t IR W 20% FI ge a1 31 98 7
YTEHI, S APH¢ A YA Hd 8, B U g¢ Iod W

5% @1 Sfaad Fe USTH PXal g1 1,800 U Bt
T & e Ues Ade | fara=m YIaE Hm?

A dealer offers 20% discount on all dolls. He offers
a further discount of 5% on the reduced price to
those customers who pay in cash. How much will a
customer pay in cash for a doll worth Rs. 1,800?

(@) 80037 (b) 1,368 3T
Rs. 800 Rs. 1,368
© 122530 d) 1,532 30
Rs. 1,225 Rs. 1,532

43.

faa T avg #t 20 wlawd & @Y W J9ar g1 i
P9 O 3R fapa gea a1 20 TR FU I WA 8,
ATY 40 Ufa=Td g oraT 8 | WRFAIS d Ted &1 82
Vinay sells an article at a profit of 20 percent. If both
the cost price and selling price are reduced by Rs.
20, then the profit becomes 40 percent. What is the
initial cost price?

@ 803 (b) 603U
Rs. 80 Rs. 60
(€ 50%0d d) 4030T
Rs. 50 Rs. 40

44.

(a)

45.

(a)
(@]

46.

(a)
(@]

47.

gfe - g, x PTHM HT
2
§x3+i+i=1
If T What is the value
of x?
7/12 (b) 4/13
13/4 d)y 6/7
TS a3 B 40 Ufa=rd 3R 20 wfa=ra @1 < Hi® ge

37 P 91G 4632 FUY A FT 1T 3 | I BT Sifha gou
1 8?

How many numbers are there from 17 to 457 which
are divisible by both 5 and 3?

7650 3UY (b) 8870 TUY
9650 SUY (d) 8050 3TY

17 9 457 9% T fPat FRME g ot 5 SR 3 AN I
faursa &2

29 (b) 35

30 d) 33

TR YT HIA 960 YA H 33.33% TIH W 39l g
20% BT ATH 31fofd B F g I/ v a1 &Y fre
Hed TR ST A1eQ?
Paras sold his goods for Rs. 960 at 33.33% profit.
Find the price at which he must sell his goods so that
he earns 20% profit.

@ 79230 (b) 720%0
Rs. 792 Rs. 720
(© 85430 d) 864%T
Rs. 854 Rs. 864
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48. A IHd TH AW HI 30 &A1 # 91 HFar § 9GS B
HPATH 15 RAIA T ABAT | B 3P A SR URTY
o iR 8 ot o & fovan| A &1 &t A spad
fora ot o quf &= wwar 32
A alone can make a table in 30 days while B alone
can make it in 15 days. B started the work alone and
worked for 8 days. In how many days A alone can
finish the remaining work?

@ 14fF ©) 10fE
14 days 10 days
© 12f&F d 15fF
12 days 15 days

49. TF TG YRT & yfapd 9 °e | 36 farlt ok 7w gt
D YRT & 3gcHag PRl g1 RRIA A A9
3t 7fa forat &7
A boat can row 36 km upstream in 9 hours and the
same distance downstream in 3 hours. What is the
speed of the boat in still water?

@ 8fedlder (b) 14 fHHi/eer
8 km/hr 14 km/hr

(© 10 fodi/eer d) 6 fedyder
10 km/hr 6 km/hr

50. TP ATHR B Pt GIgTs TP @a1g a1 3/5 Bl
gfe w3t &1 &Awa 60 Hiex? B, O B 31 dars ol
MeTs | fHam siav 82
The breadth of a rectangular floor is 3/5 of its
length. If the area of the floor is 60 metre?, then
what is the difference between the length and
breadth of the floor?

(@) 6HXR () 7.5#H=R
6m /75m

(© s5HeR (d) 4HIR
5m 4m

51. 27 3R 300 ST HEATIUTA! FTd BT

Find the mean proportional between 27 and 300.
(@ 90 (b) 45
(0 135 (d)y 180

52. RTUS qfgd Ue 37 Ft fa 75 fpedt ufa et @ ok
IS &) BIe®? ¢ @ 7fa 90 fHft wfa ger g1 29
i 6 fran e ot 32
The speed of a train including stoppages is 75 kmph
and excluding stoppages, the speed of the train is
90 kmph. For how many minutes does the train stop

per hour?
@ 10fe (b) 15TFC
10 minutes 15 minutes
© 20ffe d 11fFe
20 minutes 11 minutes

53.

(a)

54.

47 Me/Ass &) A A I arelt 7 TP Rua &
13 Y$s # TR H 31 7 't awarg (Hex #) 71d
Hiferg|
Trains running at 47 meters/second cross a signal in
13 seconds. Find out the length of the train (in
meters)

611 (b) 609
613 (d) 615

TP YT & SMUR 3 darg 10 Tt 3 3R =W ee®
¥ 3P ST 8 A 81 Y &1 g fpam 37
The length of the base of a triangle is 10 cm and its
altitude from the same base is 8 cm. What is the
area of the triangle?

@ 309HR (b) 40 I
30 cm? 40 cm?
(€ 50 qHP (d) 80 THR
50 cm? 80 cm?

55.

(a)
(c)

56.

(@]

57.

(a)
(@]

59.

DT 3N ST BT AR & U 2 : 5 31 afe IAPL
3T BT GNT 238 §, Al SAP! MY F &9 BT 3R 74
BHiforg|
The ratio of alpha and beta to age is 2 : 5. If the sum
of their ages is 238, then find the difference
between their age.

102 (b) 100

98 (d)y 96

2,700 TUA WX 8 HEM & forg 5 U wfa v wfa wre
P G A YR TS F1d BT

Find the simple interest on ¥2,700 for 8 months at 5
paise per rupee per month.

3950 (b) %720

3540 (d) 1,080

gfe 3 3 & S o1 3iav 37F N1 BT 20 wfa=ra
2, A 931 = 3R BT =T FT SJuTd FT 82

If the difference between the two numbers is 20
percent of their sum, then what is the ratio of larger
number and smaller number?

6:5 by 5:4

4:3 d 3:2

UTd & THS BT Jod 365 UY U TehY 438 IUU B
T B | wfa=rd gfs (% ®) 3ra S
The value of the piece of metal has increased from
Rs. 365 to Rs. 438. Show the percentage increase. (%
In)

30 (b)y 15

25 (d)y 20

TEA IR gER 99 F TG BT 3JUTG 32: 9 3 3R
IT@T SATgal BT U 8 : 9 Bl ARG CREkd
YR BT &ABA 616 N2 B, af Ugd a1 1 B
fa-it ghfiz
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The ratio of the volume of first and second cylinder
is 32 : 9 and the ratio of their heights is 8 : 9. If the
area of the base of the second cylinder is 616 cm2,
then what will be the radius of the first cylinder?

(@) 243t (b) 203

24 cm 20 cm

(© 28T (d) 369

28 cm 36 cm

60. TiEp +q=7 3R p2+q?=258, @ pq P HHE A
Bifeg|
If p + q =7 and p? + q° = 25, then find the value of
PqQ.

(@) 24 by 12

(c) 18 (d) 36

61. Fafafaa & A egrg adt FA-W 22

(@ o (b) H=pa

(0 UEN (d) saf

62. ¥ R &1 YA & RIT IugT Wsg T 799 B |
fraea g o fedt R ofRfe sram s
god gl

@ =g by &f

(© Yg¥ (d g

63. '&fore Py g 9F $X a1 & I | -1
fagiyor g2

(a) URHUETES (b) GEETEID

(©) TUERS d) Hhaars

64. fruferfaa uyy A few e IR fiewul & ¥, 39 fAew
BT TG99 P ol faT T Ferar F o Y wdAy wU A
e HIaT B
3Ns fageTn

(a) UGS WA dRAT (b)) WX Bl HIH HAT

(© YU UHE HAT d) PIY P AR TGH

65. Yo QI ®1 YA & R IuYT g T 799 B |

T I TR UG Bl B

() A (b) faRamy

(0 wfer (d) Raar

66. ( QUES : 66 — 70) HTATHT 3fRIET g3IT| UTS WTEd ba

g T, & Uy g Ar 3R RS § uyH 3mar W3R
ﬁmﬁmawmmwwmﬁﬁm
%maﬁa@a@r _'3TUP! 98 U dULT Hal

TS 2 g3 R, uﬁﬁ@mmwaﬁ?aﬁz}ﬁﬁ\:@é
....... L J—

3 far & ........ 2. W TSTI &, o g o
FWR FO AAE g3 iR e ot geri Wi
TEd P 98 A9 g W A T et A Dawe o
NS R I T FE ATl AR I fee a9
......... 3..... B, A AW H§ GU-'HYA IUAT GA
TATHR HIH-TT AR AR foran) F 9t @ad-oed vt o

Mob. - 7737404085, 8209244090

(@]

69.

(a)
(c)

70.

(a)
(@]

71.

(a)
(@

72.

(a)
(@

73.

(a)
(@]

74.

(a)
(@]

75.

(a)

YOUR INSTITUTE NAME WITH LOGO

TA 3T T TG & Tg ghS! ST BT T8 7
TR Wl W T | W TR ar °1 fF g
TEd BT 98 TP T IR 81 4TI UTS W18 A 59 U0
forar- St Hew gfS a1 ... deeeeeee @ R TP
o7 99 & YR &1 IRT 9HY TEel-SS Pt Ue P
3o WieT & gAY dier, @ WIS 9189 A A daaR
g off ok O3 W ge uS- TWdT §, 39 9T U g1
Y 3R a9 ¥ 3faqd 31 MY, aY g% faumT 8 man g,
TR UTSHH, TS A 98-8 &1 8! ¥eT, TRRI F1
BTN @ 2 o5, T 9T HT 8T df ST &t SN
w%ahaﬁgqﬁaﬁqmmmvmu’rﬁua

ﬁaawmmaﬁqﬁ%ﬁmaﬁaﬁmmmaﬁl
REAR] () waia
RG] d) feEa

. fraawim 2) Ft ufd & fore SR s s1ag #%1

faar=ha (b) TSIRUG
HHUMY d) wforg
. fraawm 3) ¥t ofd & fore SR fas a1 agmr ®¢)
Ted (b) fewrerd
olled (d) wed
e —IT (4) B gfd & fore Sfaa e F1TmA HY1
RER (b) ¥E
3E™ d g
e = (5) ot gid & g e fawa sTag w1
ECER] (b) Hfds
CE d) A
TR ¥ e yafgardt weg 7 2-
&gl (b) =t
HID d) Hdes
el & SMYUR IR AT ¢ arag & for i o argrfa 2
ﬁmmwﬁaﬁwﬁW|
Rl (b) ITPBI B
HEF GIHR () Hafayg
P HI TAM o4 9l FRAR’ - sHP fIw
Frafafaa # 3 98 v &1 99 i
iR (b) SR
ORAT @ B

3 Uyl | 3T T geray &1 w9 o few e fawei &
T gl

B1Y - UTd e ST

Y ST (b) HSRT ST
eI ST (d) HerHgTd BT
TATAUY" Xeg; BT dogd U HIF-HT 82
90T (b) gl
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(@ e (d) gafed

76. T aTe BT 95 HIT A1 Y it HIS 3fe 81 af
o1 Ffe TR, d B FR TR T
q TREWR(1)/ TH-GAR PI(2)/ fe W@ A1(3)/ P AR

L0

@@ 1 by 2

( 3 (d 4

77. HUT BT dgd U 8-

(@) Puc (b) PRUC

(@ PR (d) U3l

78. 3APTAf 7reg "3eR’ FT 30 A TP 3 A @

(@)  Sffa=mef (b) el

(¢ auf d) 3iF

79. Tl @1 faew war gm

() g (b) 3nE

(0 H:Rfed d) T

80. (1) D! TEXd ITP W H fha-it g1 (2) A W A
TG 1Y ATEdT AT (3) 3IF I AT PI (4) 3T T8
T ud ot (5) Tus ® o T Ut fF
I o1 IR Y A syafeud sifor|

(@ 3,54,1,2 (b) 32514

(¢ 35214 (d)y 35142

81. Directions: Each item in this section consists of a
sentence with an underlined word(s) followed by
four words/group of words. Select the option that
is nearest in meaning to the underlined word and
mark your response accordingly.
The regime built a series of major citadels and
minor forts at immense cost.

(@) fortress (b)  flank

() baffle (d) decrepit

82. Choose the option that is closest in meaning to the
underlined idiom.
He was a friend, but soon he showed his true
colours.

(@ to guide a friend (b)  to reveal one's true

(c) toreachoutandhelp (d)

83.

(@) Deepa and Rani love (b)

(c) does not like them. (d)

nature

to show one's
friendship

Direction: Read the sentence carefully and choose
the option that has an error in it:

Deepa and Rani love chocolates but their brothers
does not like them.

but their brothers
chocolates

No error

Mob. - 7737404085, 8209244090

84.

(@]

(a)
(@]

92.

(a)

(@]

YOUR INSTITUTE NAME WITH LOGO

DIRECTIONS: Find the word which can be replaced
for the given sentence.
The animals of a certain region.

Fauna (b)
Tame (d)

Ferocious
wild

Direction: Choose the right tag to complete the
given sentence:

Don’t keep arguing with me for everything,

will you? (b)
don't you? (d)

would you?
should you?

Select the option that can be used as a one-word
substitute for the given group of words.

A funeral procession
Constellation (b)
Claque (d)

Cortege
Congregation

Find out the antonym of the underlined word in the
given sentence.
No one likes to cultivate in a barren land.
desperate (b)
desolate (d)

parched
fertile

Select the word which is correctly spelt:

Ludicuruous (b)  Ludicorus

Ludicrous (d)  Ludicurous

Fill in the blank with the most appropriate word.
He deals _____ with everyone so people trust him.
slyly (b)  deeply

fairly (d) poorly

Select the most appropriate meaning of the given
idiom.
An eye wash

In writing (b)
Avoid talking

A pretence
(d) Arare event

Select the most appropriate SYNONYM of the given
word.

SOLEMN
splendid (b) informal
frivolous (d) serious

Select the most appropriate option to substitute the
underlined segment in the given sentence.

Suman and his friend often coming here to read
books.

often have been (b)
coming here

are often coming here

often are coming here (d) often come here

Page 9
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93.

(a)

96.

(a)

97.

The following sentence has been split into four
segments. Identify the segment that contains a
grammatical error.

I respect/ him so/ he is/ my trainer.

| respect (b) him so

he is (d) my trainer.
In the given question, four words are given out of
which one word is correctly spelt. Choose the

correctly spelt word.
Bayyonet (b) Baionnet

Bayonnet (d) Bayonet

Select the most appropriate option to substitute the
underlined segment in the given sentence. If there
is no need to substitute it, select 'No substitution

required'.

I am trying my best to give in junk food.
give up (b)  give back
No substitution (d) give out
required

Direction: Some words have been left out in the
following passage. Read the passage carefully and
choose the correct answer for the given blank out
of the four alternatives:
Dogs have [1] unique relationship with
man’s  evolutionary history — one of
companionship. This poses a moral dilemma of
being responsible for their welfare but also
confronting the vagaries of their evolution from
wolves and their territorial instincts. While by no
means a conundrum unique to India, much of the
world has drawn the line by de-recognising the
rights of stray animals: if leashed and registered,
human custodians are [2] to take care of
them. If not, the state — as a last resort — is
encumbered to euthanise them, in the interest of
public health. The Prevention of Cruelty to Animals
(PCA) Act and the Animal Birth Control (Dogs)
Rules, 2001 (being updated), while aimed [3]
limiting the stray population, do nothing
to improve public safety. The [4] draft
rules, or the Animal Birth Control Rules, 2022, only
put forth procedural changes in sterilisation and
vaccination, permit only “incurably ill and
mortally wounded” dogs to be euthanised, which is
what existing rules permit, and make leaders of
resident welfare associations responsible for
feeding strays [5] pockets. The PCA and
ABC rules acknowledge that unchecked strays must
be restrained.

more (b)  most
a (d) an

Direction: Some words have been left out in the
following passage. Read the passage carefully and

choose the correct answer for the given blank out
of the four alternatives:
Dogs have [1] unique relationship with
man’s  evolutionary history — one of
companionship. This poses a moral dilemma of
being responsible for their welfare but also
confronting the vagaries of their evolution from
wolves and their territorial instincts. While by no
means a conundrum unique to India, much of the
world has drawn the line by de-recognising the
rights of stray animals: if leashed and registered,
human custodians are [2] to take care of
them. If not, the state — as a last resort — is
encumbered to euthanise them, in the interest of
public health. The Prevention of Cruelty to Animals
(PCA) Act and the Animal Birth Control (Dogs)
Rules, 2001 (being updated), while aimed [3]
limiting the stray population, do nothing
to improve public safety. The [4] draft
rules, or the Animal Birth Control Rules, 2022, only
put forth procedural changes in sterilisation and
vaccination, permit only “incurably ill and
mortally wounded” dogs to be euthanised, which is
what existing rules permit, and make leaders of
resident welfare associations responsible for
feeding strays [5] pockets. The PCA and
ABC rules acknowledge that unchecked strays must
be restrained.

obliged (b)
waged (d)

staged
appreciated

Direction: Some words have been left out in the
following passage. Read the passage carefully and
choose the correct answer for the given blank out
of the four alternatives:
Dogs have [1] unique relationship with
man’s  evolutionary history — one of
companionship. This poses a moral dilemma of
being responsible for their welfare but also
confronting the vagaries of their evolution from
wolves and their territorial instincts. While by no
means a conundrum unique to India, much of the
world has drawn the line by de-recognising the
rights of stray animals: if leashed and registered,
human custodians are [2] to take care of
them. If not, the state — as a last resort — is
encumbered to euthanise them, in the interest of
public health. The Prevention of Cruelty to Animals
(PCA) Act and the Animal Birth Control (Dogs)
Rules, 2001 (being updated), while aimed [3]
limiting the stray population, do nothing
to improve public safety. The [4] draft
rules, or the Animal Birth Control Rules, 2022, only
put forth procedural changes in sterilisation and
vaccination, permit only “incurably ill and
mortally wounded” dogs to be euthanised, which is
what existing rules permit, and make leaders of
resident welfare associations responsible for
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feeding strays [5] pockets. The PCA and
ABC rules acknowledge that unchecked strays must
be restrained.

limiting the stray population, do nothing
to improve public safety. The [4] draft
rules, or the Animal Birth Control Rules, 2022, only

(@ on (b) in put forth procedural changes in sterilisation and
© at (d) upon vaccination, permit only “incurably ill and
mortally wounded” dogs to be euthanised, which is
99. Direction: Some words have been left out in the what existing rules permit, and make leaders of
following passage. Read the passage carefully and re5|d.ent welfare associations responsible for
choose the correct answer for the given blank out feeding strays [5] pockets. The PCA and
of the four alternatives: ABC rules acknowledge that unchecked strays must
Dogs have [1] unique relationship with be restrained.
man’s  evolutionary history — one of (@ in (b) on
companionship. This poses a moral dilemma of (c) at (d)y to
being responsible for their welfare but also
confronting the vagaries of their evolution from 101. EﬁTITUIT # gy o1 & Rge g9 tl?ﬁ foa Q]HTE.PI
wolves and their territorial instincts. While by no T fia &
means a conundrum unique to India, much of the In which century the coins of Yaudheya Gana were
world has drawn the line by de-recognising the first found in Haryana?
rights of stray animals: if leashed and registered, (@) 174 17th (b) 18di 18th
human custodians are [2] to take care of (© 19th 194t (d)  20df 20th
them. If not, the state — as a last resort — is
encumbered to euthanise them, in the interest of 102. NTOIT F ARFEASTA & SR ATe] B WITSd HI
public health. The Prevention of Cruelty to Animals 1 % f5a fear Sar 22
(PCA) Act and t_he Animal Birth C.ontrc.al (Dogs) Who is credited with organizing the Jats during the
Rules, 20:)1 (belnz updated), Iwhlle :lmedh [31] reign of Aurangzeb?
imiting the stray population, do nothing ISR Rai Tﬁw
to improve public safety. The [4] draft (@) Rajaram (b) dR Veer Gokula
rules, or the Animal Birth Control Rules, 2022, only © 19 Chudaman (d)  TRGI SiIC Hardayal
put forth procedural changes in sterilisation and Jat
vaccination, permit only “incurably ill and ) . " !
mortally wounded” dogs to be euthanised, which is 103.  gRarom & Ardf-firey gm%mﬁmg@%ﬁq
what existing rules permit, and make leaders of '\‘IT?H?HIT’ . .
resident welfare associations responsible for Which area was the main center of resistance to
feeding strays [5] pockets. The PCA and Marley-Minto reforms in Haryana?
ABC rules acknowledge that unchecked strays must (@) UMIUd Panipat (b) STl Ambala
be restrained. (c) %ﬂT{ Hisar (d) Wr‘fﬂ?{ Kurukshetra
(@) proposed (b)  proposing )
(c) proposes (d) propose 104. ﬁ;}“ g gera: s & fea wrr § g
100. Direction: Some words have been left out in the Light loamy soil is mainly found in which part of
following passage. Read the passage carefully and Haryana?
choose the correct answer for the given blank out (a) GfEror-uf¥w sfsren (b) TRIUNTG eI
of the four alternatives: South-West Ambala Narayangarh Tehsil
Dogs have [1] unique relationship with o T GﬁTEﬁEa:ﬁ Both ‘a’ (d) W—Ujm North-
man’s  evolutionary history — one of and ‘b’ East Ambala
companionship. This poses a moral dilemma of
being responsible for their welfare but also 105. ﬁ?l'ﬁ'\‘lj:fl El) '\‘Eﬁ Il (RIT)
confronting the vagaries of their evolution from A. S9fa® giid 1. Tdad
wolves and their territorial instincts. While by no B. 3TQR i 2. wieEg
means a conundrum unique to India, much of the C. ﬁﬁé@ﬁ 3. fgar
world has drawn the line by de-recognising the DGﬁIﬂT(ﬂ'ﬁﬂ)EﬂH4=j§(ﬁﬂﬁ)
rights of stray animals: if leashed and registered, PIs ABCDABCD
human custodians are [2] to take care of Match List | (Lake) List Il (Location)
them. If not, the state — as a last resort — is A. Dubchik Lake 1. Palwal
encumbered to euthanise them, in the interest of B. Anangpur Lake 2. Faridabad
public health. The Prevention of Cruelty to Animals C. Blue Bird Lake 3. Hisar
(PCA) Act and the Animal Birth Control (Dogs) D. Ujina (Sangel) lake 4. Nuh (Mewat)
Rules, 2001 (being updated), while aimed [3] code ABCDABCD
Mob. - 7737404085, 8209244090 Page 11
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(a)
(@]

106.

(@]

107.

(a)
(@]

108.

111.

(a)
(@]

112.

(a)
(@]

2341
4123

ghamon g o waifye &9 | 59 pa a1 @dt ot
STt 82

Which flower is cultivated in maximum area in the
state of Haryana?

1234 (b)
3412 (d)

[eTd Rose (b) e Marigold

ISHITT Tuberose d) TAfSTETT Gladiolus
Where is Pratapgarh Farm located?

oK Jhajjar (b) TRER Hisar

BT Karnal (d) dBIEIG Fatehabad
g Fdteoia Sef faera uftrewor & R
P g3 A
When was Haryana  Renewable  Energy

Development Authority established?
T 1977 the year 1977 (b) TH 1978 the year 1978
Y 1980 year 1980 (d) T 1985 year 1985

F% PR gRT TSNTE TaTS oS A of SeH
¥ fere famm suf~al &t o srgufa & g &
When was the permission given by the Central
Government to aviation companies for
international flights from Chandigarh Airport?

[ 2013 June 2013 (b)  S[72014 June 2014
pri a
3T 2012 April 2012 (d) HS 2014 M y 2014

ghaTon & fa TsauTa &1 RiGTa 9 $H (ad
5 e 32

Which Governor of Haryana has the shortest tenure
(only 5 days)?

ot HETdR UG Shri (o) o 19 TRHAFE Shri

Mahavir Prasad Babu Parmanand

ft STy adt Mr. (d) o S g dids!

Omprakash Verma Mr. Kaptan Singh
Solanki

YRT 32 & dgd gRATIN Yaraet w1 fufras, 1947
F dgd eguTd fhd- aut & fore g famr smakT &1
TS B 82

Under Section 32 of the Haryana Panchayati Raj
Act, 1947 , the Governor constitutes the State
Finance Commission for how many years?

3 97T 3 years (b) 4 Id 4 years

5 91T 5 years (d) 6 9Id 6 years

3T Pt ugell Iom arel Ao SRl Jar A Hel
E &1 g A2

Where was the country’s first running paid taxi
service Metrono started?

w Rewari (b)
ISR Jhajjar (d)

T®UTH Gurugram
Q%ZTI—(; Mahendragarh

113.

114.

(a)
(@]

115.

(a)
(©)

116.

117.

(a)
(@]

118.

(a)

gRATON &1 S AT MR Ra T gRT fagiy =q
& HATAT ST 32

Which festival of Haryana is specially celebrated by
the Sikh community?

3@ e shiv (b) BIdT HIE Hola Mohalla

Chaudas

?‘ﬁ%?';)f Lohri (d) 'g';'Tf 3-I'§"v:ﬁ Durga
Ashtami

yerft emymur gRamn # Afeael gRr S

.............. o g 9t g

Bhujni jewelery is worn by the women of Haryana

in their ..........

BT ear (b) TI'CE_"T neck

Al nose (d) BN hand

givaron ¥ anyfe vd gd Ao adtes & s=mar
Ugdl RMgx Ul

The first city built in a modern and pre-planned
manner in Haryana was
HATd Karnal (b)
fYart Bhiwani (d)

3{qTelT Ambala
SICiiel Panipat

........... AR H T Hed I7dTd1, St G Q6
TMESTE1 PT IaT U

............ built a palace in Narnaul, which was the
diwan of the Mughal emperor Shah Jahan.

SRS Birbal (b) I HPG M Rai
Mukund Das

I Y4 G Rai d) SR HY P Ta!

Madhav Das none of the above

H&pd @usHTH/MfasmTad &1 firer &3 ayr ghamn
Tl | (@EP) It 1| (FusHTA/AffasTe) & T
A. TS AR 1. HiGT UTHR

B. gAHIIG I Xt 2. fagm=r iaw

c. it aeaor Rig sprara 3. IR¥ad! dgAT

D. ST YA aTd WRd 4. T YR wiar

Match the Sanskrit Khandkavya / Geetikavya and
the author of Haryana List | (Writer) List Il
(Khandkavya / Geetikavya)

A. Hansraj Nagar 1. Sankhya Sudhakar

B. Vanmalidas Shastri 2. Vigyan Gitam

C. Shri Laxman Singh Agarwal 3. Saraswati Vandana
D. Dr. Shankarlal Saraswat 4. Yug Bharati

Code ABCDABCD

2341 (b)
1243 (d)

fora ultrg safed &1 Jey Agde & AIERT Tid 4 22

Which famous person is related to Mokhra village
of Rohtak?

YT d1ddll Kalpana (b)
Chawla

3124
4321

1T A Baba

Ramdev

Mob. - 7737404085, 8209244090
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(@]

119.

(a)

(©

120.

(a)

(@]

121.

(a)

122.

(a)

123.

(a)

124.

H1eft Afere Sakshi (d) TTH Y PIS T8I None
Malik of these
SrTuTe gt frads fmfor o & wwiftra @2

Whose construction work is related to Anangpal 11?

e Y Iron Pillar (b) SFTATE TR
Anangtal Sarovar

ISP S Surajkund d) IWIad gt All of the
above

SMYP! IE1-ART A T ford warerg @ Safka
Gy

With which ministry is the ‘Aapki Beti-Hamari Beti’
scheme related?

g ud 91 faerg (b) IRFa®s S Cultural
Women and Child Work

Development

Tamad SR fasm (d) URAR 3R Wy

Panchayat and
Development

wfaumRTeh TR B &

Gifted children are

Family and Health

TN TERAGIR- (b) 37U ol & s
HER non-assertive of independent in their
their needs judgements
[EEIRRSRE] (d) FTHIDE HiTT
independent of None of the above
teachers

Frafafea & @ o149 91 wras gR1 vwaTfaq safdaa o1
Which of the following is not a structural element
of personality as proposed by Freud?

gaH Id (b) URTEH Super ego
3189 Ego (d) Y BIS Hi Tl

None of the above

$&nwwf§r&maﬁwwmm%ﬁmﬁ
M gFadi e e s

Classroom management is an  important
responsibility of teachers that entails three basic
functions, which are

fRitem, Te ok (b) UG, TREYUT 3IR
Cl—c{-‘lﬁ planning, e Curriculum,
managing and designing and
performing execution

foitem, e aiR (d) f¥Em v ok
TR planning, control PEANE] controlling,

and communication managing and

performing

SFHUPY (A) : T2 HAER P P 3R 30 fRaR &
G-I & Yol 3R ArcS! ®Y e §
PRUI (R) : TRAR Tl & FATGHGRU & Gdas
TR I
gl fawe gful

(@]

125.

(a)

(@)

126.

127.

(a)
(@]

128.

(a)
(@]

129.

Assertion (A): Children learn ways of behaving and
values and norms of living in their family.
Reason (R): Family is a secondary agency of
socialization of children.
Choose the correct option.
@R RENITE () (A IRE®)
3R (R) (A) BT Tl

FEIRRE
AP (R) (A) BT T

R 8| Both (A) and
(R) are true and (R) is
the correct explanation

RS T8} 8| Both (A)
and (R) are true but (R)
is not the correct

of (A). explanation of (A).

(A) I g A d (A 3R R) TH 3T
(R)STIT 1 (A) is true g1 Both (A) and (R) are
but (R) is false. false.
@i g T & SMYR W HAfRid BI
13%:1 u;ﬂﬁ Sae, e o sy # furfoa
I

C.G. Jung has divided personality into introvert,
extrovert and ambivert among other types on the
basis of test.

e AT TR0 (b) YIS SNy TLeor
Word Association Test Thematic

Apperception Test
gRFRUfIS TRterm (d) ST YT URIET Ink-
Situational Tests blot Test

1Q = ATRI® 3 (MA)/H)‘I?I‘HT:F&IEGI'I'Q (CA) x 100
g A forads g1 wfaaifea fsar e

IQ = Mental age (M.A.)/chronological age (C.A.) x
100 was propounded by
TR WABR-la (b)
THd Revised Stanford-

AT TR wid S
X Minnesota paper

Binet Scale form board test
f9-913H Binet- d) TIPS TR
Simon None of the above
e gR1 FAUTE 18 Teayul YT 3

1. e & widere ok Fremeat

I1. 3T & fere watavor werar

1. 3T BT GAYR

What is the critical role played by a teacher
I. Observer and diagnostician of learner

Il. Provider of the environment for learning
1. Facilitator of learning

Fad | Only | (b) 13RIland i

1 3R 11111 and 111 @ 1,1, 3R, 11, and 11l
foraraa srgpa Risia _ gr1 ufdurfea fesar
T AT

Operant Conditioning Theory was propounded by
UIga@ld Paviov (b) f&R Skinner

YIS Thorndike  (d) PIGER Kohler

TP fafRy yeR & SRR srerar forad wrsg), arert
3R HgIal F) T a1 @ Tl @ o s o
FRASENR, _ FEudTEI R R

Mob. - 7737404085, 8209244090
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130.

(a)

(@]

131.

132.

(a)

A is an impairment that negatively affects
communication through spoken language.

f&afeRra Dyslexia (b)  HTST TR fadR
Language Processing
Disorder

Miedes SHfUTH (d) =T UM YA Visual

S1&HdT Non-verbal
Learning Disability

Rrgor SiftRTT AR @1 & AR AT ST
aifgul

Teaching learning materials should be selected

according to .
TiRd AN AITDB (b))  TRI&UI B I the
objectives of teaching

Motor Deficit

SUAKIT their

availability in

respective areas

I AN their cost (d)

T A BIE ot T

None of the above

fFafafae ¥ @ S19-91 T JUEaRE’ BT T9) ST
ol Fear 32

Which one of the following statements best
describes Inclusion?

TG RAYyEIF TS () TP A Fwh
¥ puft oo A & =it o1 Fafia faame
TR THA| It is the goret § AT fRem
belief that some T B BT MYBR

children cannot learn
at all.

81 Itis the philosophy
that all children have a
right to get equal
education in a regular
school system.

TR UG RAS [P R (d) I8 T fayr 8 b s=if
T 3R & faRy Y U ARl &
IJUBR' Bl It is the SFTAR ST {5t ST

BT It is the belief
that children need to
be segregated
according to their
abilities.

o & @ s gRuda ok dfua gy &
gt ® Haifta s31 & g To gurdt Yot
TR

Which of the following is NOT an effective strategy
to address learners from disadvantaged and
deprived backgrounds?

philosophy that special
children are 'a special
gift of God'.

SRRk G
hI

aﬁmmﬂwm MBI Inclusion of

o ST ?IT%QI diverse methods of

School should be
carefully graded
cultural content in
textbooks.

teaching-learning.

(@]

133.

134.

(a)

(@]

135.

136.

(a)

(@]

137.

ITh PG BTUKN0  (d)  dfad Renfial &t v
FA & forg Fia 3R Sielt & ATEH
Tag fear ST e u| g™ A1igU | Teaching

Stipulated time should
be given for testing
their skills.

through the language
and dialect of
underprivileged
learners

Tl B AT A B o THTE g9 & forg, 399
¥ frd e R 16T S ST Anfew?
To make children effective problem solvers, which

among the following should NOT be adopted by the
teacher?

STV IR BT (b)  fafve yrw i
QPR &1 Giving fawfa o By
them rewards for good developing different
works language skills

S dul A AID  (d) BB b AN Bl
fore faw T &b By WIHR HIA & g

developing them to
memorize fastly

e § 15 By enabling
students to accept
demerits

& &1 q@T 3T ©-

The main aim of education is-

YT SR BT fAD™  (b) IS AR BT
development of fdb™ development of
language skills social citizenship
Hfada &l [de™ (d) <&US punishment

personality
development

Frafafaa % @ o yurdt Rreor &1 qor T8 @2

Which of the following is not a quality of effective

teaching?

A aAdIg Democratic  (b) ﬂ%’lﬂw
Sympathetic

UhdA1g Autocratic (d) di-1g g1 yarar
Desirable information
provider

fFafafea & @ 19 @ Yo Fde affalr 3t
feRT 78 8

Which of the following is not a strength of role-
playing?
3ol W &I Fgrar  (b)
aar % Promotes

lifelong learning

Ferpfaget wme

e RId HaT &
Develops sympathetic
understanding

TR UARAI UG (d) e ®i el & dgrar
DAl % Provides a_cﬂ % Promotes rote
immediate feedback learning

fare & Ao & Rigid & DY TR0 H) ST AT 8

In Piaget's theory of development, the fourth stage
is called
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(a)

139.

(a)
(@]

140.

142.

(a)

(@]

143.

T AfhaTEd SfaRT (b)) S WfchaTe® AT
Concrete operation Formal operation
period period

Ud-Tfharersd SaRT (d) AR ST

Pre-operation period

40T ST T TG Hed 3

Hearing impaired children exhibit:

Sensori-motor period

YV GRTGIR AT (b) IRI 3R & H F141¢
barriers in barriers in moving
communication by around

language

Hfdadl B W-@UE  (d) =T pIRret H F1emy
EI%'-‘IIF‘['E[EITW barriers barriers in tactile skills
in individuals self-care

skills

frafifad § @ $19 afdra o1 Fule @&

Which of the following is not the determinant of
personality?

STAfRIGdT Heredity  (b)
R situation (d)

ITaRT Environment

IR Communication

e gy o, & R gl A Wud § @ A
Frafafea # 4 f5w w3 81 32

Which of the following is not the determinant of
personality?

Td fhaTdAd SfaRT (b)  Ud Wftharerd SRl
Heredity Environment
HAERTHS SR (d) S WfshaTe® AT
Situation Communication
TReTee AAIAT & 99 UgE des
Most prominent member of Gestalt Psychology
PHC DIYDT Kurt Koffka (b) Ao aa“fﬁ? Max
Wertheimer

BT BIGeR (d)

Wolfgang Kohler

T gt All of these

g HEgH B B 41T S 3 T Mg qA IR &,

fra & & feae! defta ot o2
The ability to feel what others are feeling is referred
to as:
KRERICRCRE ] (b)  SIR dafaka &
Interpersonal ability Intrapersonal ability
RING-TfAEde &HdT (d)  UIhicds &

Bodily-kinesthetic
ability

frawE ik o9 & sguR fFafafaa o @ i @
&A1 TS AT BT 10T Bt @2

1. Ydle

1. siaffRar

1. g

Iv. Mferepar

Naturalistic ability

(a)

144.

(a)

(@]

145.

146.

(a)
(@]

147.

(@]

148.

(a)

Which of the following abilities form creativity
according to Guilford and Torrance?

I. Fluency

Il. Interdependency

I1l. Persistency

IV. Originality

I, 1 AR v I, 1Mand IV (b) 11,11 AR IV I, 111
and IV

1 11STR L 1 and I d) LSRRIV IIland IV

%m%ﬁ@ﬁﬁﬁmm%wﬁmm

What is known as receptive skill in language
learning?

FreT 3R ferg (b) T 3R @
Speaking and writing Listening and speaking
UGT 3R feRa T Read  (d) AT 3R U@ Listen
and write and read
o o ¥ gea Rigor 3 eRont #4682

Which of the following is/are the assumptions of
micro-teaching?

g U drafds &0 (b) I8 iy & FAgordr
81 Itis a real teaching. T A gl it
ensures mastery in
learning
TIR-FACAIRAI S (d)  SWIad Gt All of the
e fora STar 81 It is above
carried under non-
complex environment.
3 ¥ f-smamft Risia & wfaues #1922
The profounder of the three-dimensional theory of
intelligence is:
W Kohler (b) e 2P Thorndike
St fawrs Jp (d) T:ITEITh?\‘TﬁVygotsky
Guildford
HTYT YT R FT HEH 57 FIT 82

What is the correct sequence of acquiring a
language?

A1, ST, Te, (b) foraAT, Sie, e,
feramn Listening, AT writing, speaking,
speaking, reading, reading, listening
writing

G, T, fore T, (d) SIS, AT, U,
CISEI Listening, forg speaking,
reading, writing, listening, reading,
speaking writing
P UrST=al UG, 2005 & JAR:

According to National Curriculum Framework (NCF)
2005;

TIOre fR1&for 1 HbIoT  (b)  TIOICH R&fur T FHeblof
I WEd ud G- 3IE¥G YD TUMAT HAT
AR R@ T 3R @ § R 3=
IR I T I S UG §
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(@]

149.

150.

(@]

151.

(a)

ﬁl@'l‘ﬂ%l Narrow aim

of teaching
mathematics is to
teach numbers and
numbers concepts and
higher aims is to teach

Narrow aim of
teaching mathematics
is to teach precise
calculation and higher
aim to teach calculus

measuremets.

T e T Bt (d) TN fRreror & Gepiot
I TaT-gaeh I TG HIST BT
I faBRId BT CEARNERGIRCIRS

3R IR LW TR I Ve
A-GHTY BT Y (3 -THW) 8
P faBRd TR HT R Narrow aim of

The narrow aim of
teaching mathematics
is to develop
numeracy related skills
and the higher aim is
to develop problem-
solving skills

Frafafaa & ¥ 19 a1 goTEsar $1 dad T8l 82
Which of the following is not an element of
creativity?

IS Adjustment  (b)

teaching mathematics
is to develop
mathematical
language and higher
aim is to solve word
problems

TRl & faari o
URadd HRAT Changing
the thoughts of others
drehTiere RUfd | TR
S ®I T Ability
to go beyond the
current situations

FrafafEd & @ o0 fRufa faenfial & eiftnm ik
i &) gaTe sy
Which of the following condition will facilitate
students’ learning and thinking?

T oI s (b) e &1 Iafell &

et faemdf fAfssa s HGR 1 galed
gl Creating situations AT Discouraging
where students are participation in

passive listeners. classroom discussion.

e s s wd (d) il o aaiRe

BRI CEIE] (d)

Solving problems

% TR W TfafaferT ueH &l
wﬁ%%ucrﬁa‘ﬁa Providing students
AT Restricting with hands-on
students to take activities.
control over their own
learning.
fFrafafaa & ¥ 19 91 3= I8 T8 82

Which of the following statement is not correct?
FewEfemad ) &SRR
QT A § | Growth w9 Bl &1 Growth
and Development are continues throughout
two different aspects life
fg AP BTTH URT  (d)  fAHTH FR=R aef aredt
%I Growth is one of Elﬁv_qT%’I Development

152.

(a)

(@]

153.

154.

155.

(a)

(@]

156.

(a)

is a continuous
process

fFrafafaa & @ $19 a1 71 39 J rgafear g4t
PR 2

the parts of
development

Which of the following is primarily a heredity
factor?

G el & 95 (b)
& Uit SUGRT Attitude

towards peer group

3l &1 4T Eye color

I &1 &7 way of d) TR fafafiay o
thinking ot yrfariRar
Participation in social
activities
T & FHTI BT BT 3637 &-

The purpose of socialization of the child is that of-
FfGTd-ArIfoTd (b) eI, THE 3R
THTSH Bl F@TdT Tl T fawRid &
promoting personal- developing attitudes,
social adjustment. likes and beliefs.

g AF®T SR A= (d) IS 9HE gRT
fearsit @t Wil &t S{UfEd BTl b WY
§GI4T &l promoting [CERCERGI

acceptance of group
standards and mores

developing patterns of
action expected by the
social group

[

Heredity and environment cannot act:

1Y T together (b) UH G IHTH at the
same time

Tahid H in isolation (d) TR T level-
headed

difes faor &t foa sawm & gl & siw

TR Y BT & 3Tl 32

At what stage of intellectual development, does the
problem-solving ability of the pupil take place?

Yafew O=fim sigmr - (b)  Ud Wfharats

Sensory motor ST Pre-operational

T Tfharere sfaRT (d)  ShueRe dfsharerd

Concrete operational SIRIT Formal
operational

TR P& BT BTF TS AT T A9 TR SA1a=)
B U ¥ @ ¥ET 3| I8 FaR] Bt 73 yelfaal o1
AP Bl § MR I U | & IRl &
o1 §E A Siisd1 81 97 Heam 2|
Robin, a Class Il student, is attentively watching
animals on National Geography Channel. He
observes new species of animals and adds them to
the existing group of animals in his memory. This is
called:

STHATH U] (b)
Assimilation

WP Schema
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(@]

157.

(@]

158.

(@]

159.

(a)
(@]

160.

A

Accommodation

W%maﬁmﬁﬁmmmwm

TJaH Equilibration (d)

According to Vygotsky, the zone of proximal
development is

Reg@ gRIG It (b) a1 Wd R B Gl
Tl BT A ? g1 e et
‘Al zone ﬁ?’ﬁﬂ\?ﬂw%what

the child can do on her
own which cannot be

demarcating the
support offered by the

teacher assessed
FTAIWIAFIISR  (d) o= DI 3D &Hal
TR & 1Y T B Tt R & forg Ua
bl 8, §Hb ae Bl EARICIEERRIEI R
3R the gap 3R TP the amount
between what the and nature of support
child can do provided to the child
independently and to achieve her

with assistance potential

fra wef A frare ok ariics! & TR Te g @
fira 82

In which context Piaget's and Vygotsky's views are
different from each other-

e s AT ufe (b IS HAEETuE
T T famr T H Y9 &1 fasr
RS Gud & BT g I 30 I J Bl
3R GRATIBT T AT ? 3R IRt &I

T {5 HToT T & TIH [T U7 fo 1o 61
R fasRid gt 21 faera e
Piaget believed that 3ic:forar T grar 21

the language
development is done
by social interaction
and Vygotsky believed
the language
developed by own

Piaget believed that
language is developed
in the child by their
own cognition and
Vygotsky's believed
that language is

cognition. developed by social
interaction.
(1) 3R (2) G Both (1) (d) ZTH ¥ IS Tt None
and (2). of these.
AR Prgaatt & Rigia &, Wt o & #9 a1 wR
Afdwar ot srqufufa &) gxifar 82

In Lawrence Kohlberg's theory, which level signifies
the absence of morality in the true sense?

IR 1 Level 1 (b) XX 2 Level 2
IR 3 Level 3 (d) ¥R 4 Level 4

fFafafaa & ¥ $19 91 Toa &1 araraRor Rem @)
3R gy 7Y T7 e 3R e & e s
<TET g

Which of the following type of school environment
will not make education more effective and will not
be conducive to learning?

(a)

(@]

161.

(a)

Only |

(@]

Neither | nor Il

162.

(a)

I, 11and Il

(@]

Both I and llI

163.

(a)

What children learn outside

Rreror- s Il (o)  Rrerew MaR SR
3l Y TIEI B el THSIGR BT & The

% AR I B T%‘I'Q teacher is friendly and
g AT # Suas understanding

B 8 The teaching-

learning materials are
properly stored and
are available in plenty

to children

T ad AAREA S (d)  PeT H THIT 3R

fore vafe S8 & 91y JfedRA (aTeR) vaE
forammet 8t ® The AR TEI § The light

and ventilation in the
classroom is not
adequate

e grT fAefa e 9o & s # fafafea
HYT FEl o-
1. I8 BT & fad 3R WEar &t gxiiar 3|
I1. 9% f1em & e & g3 4 9waRa g

Which of the following statements regarding
lesson plan developed by a teacher is/are correct?
I It reflects interests and heads of students.
Il. It correlates with the teacher's philosophy of
education.
Had | (b) 1 3R IEHS

Both I and Il

IR d) wadll
Only Il

Frafafea & & o19-3 nfafafrat Qe fzduor &
ud afey =vor & e §2

1. = & ufvomay &1 gard g

11T &FET BT el ST

1. LA &b THR BT Ugdr AT

Which of the following activities are involved in
pre-active stage of Pedagogical Analysis?
I. Stating learning outcomes stating
outcomes

Il. Assessing entry
Penetration Capacity
I1l. Identifying types of learning Identifying types of

learning

1, 11 3R 111 () 1 3R 1A
Both Il and Il

| 3R 111 &4t d) 13 1GH

Both I and Il

fadaTere Riemmd sTag ee Ry g &

It is the firm belief of critical pedagogy that

TH AR AT (b) Rignlial & orgya iR
& Experiences and perceptions
of learners are important

classroom are spacious
with adequate space
for free movement

learning

competency Detecting

school is irrelevant
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( UbRed@dIgan () el el @ g
DB b IR 3 T TET B
BT g BT MY EURY
A teacher should always lead Learners should not reason
classroom instruction independently

164. fRreor A f wR I 1 arern uRad= g 9o 8-

A change in emphasis from teaching to learning can
occur through -

(@) WADIWEMAID (b)) 3 &0 &} dpb-iep

by encouraging SERIE

memorization By adopting the technique

of forward teaching

(0 TleTuduH R BT (d)  Sa-obivsd Riar-ugfa
EERY TR

focusing on test results By adopting a child—

centered educational

approach

165. frafafEa & @ o=-d yafa=ha Rien 3t fawar g2
Which of the following is a characteristic of
progressive education?
(@) TSI HBUE (b)) ER-SR S Qe
PA R T &My
Emphasis on scoring marks  repeated exams
in examinations
(0 THIIRUNSRTSAD! (d) Pad YRaIdd ured-
[T AT TR TR MTTRA
Flexibility in time table and 3 ﬂé?l
seating arrangements Instruction based only on
proposed textbooks

166. Td df¥®T ufdasar @1 URMAI® sawt & Wamr-
Learning in the early stages of pre-neural
commitment -

(@) "R (b) aTTHdl H HRaAl
Neuroplasticity Learning in adulthood
(© Rigsmrrdden (d) FTHIDE 6!

Infant Learning None of these

167. UHTHIIRIME BT AdAd HT 82
What does fMRI mean?

() ARTH HAIGUEAR &1 (b) I9I & Y ARTSH |

TR gRaaH Jea1g &7 § uRad
change in blood flow in the  Changes in magnetic fields
brain in the brain over time
(0 GaMfadiRb (d) ST P TL
both aand b none of these

168. Afkrss FI nfafaftr &) arm &Y wia faftrt -

The main methods of measuring brain activity are -

(a) oy (b) TPTHIRSNE
erp fmri

(0 gsoil (d) SR gt
eeji All of the above

169. W< dl. dfedq & YHW ATGEING @RI § 4,
Frafafea 3 9 fFae! sgem o1 ve fafy Az
. AR
1. 8}
One of John B. Watson main practical innovations
was a method for deconditioning which of the

following:

l. Love

Il. Fear
(@) had | (b) 1T ST
Only | Both I and Il
(© dAdAg d) Hadll
Neither | nor Il Only II

170. fUfdiEd & @ H9-91 IaER A IR A A TH

8T 8 Sl AT & ST T 52
Which of the following behaviour is not one of the
normal behaviour that comes under excitement?

(a) AFRIP TR H (b)  TRr&rep P BTa-HTd
BIRCRE| expression of teacher

change in the mental

behaviour

© YNUOeAHAuRadT  (d) Fxreh § uRadH

change in the speech

pattern

171, Fruitea & 3§ 71 Wit 3t fRAifkwa a8t &

Which of the following is not a specialty of
counselling?

change in the posture

(a) ardmaRu fAHfor (b) T@ad ANl &

Environment Creation SAWR
Opportunities for free
expression

(€ WS I IfBUT  (d) ufedd JampR

Consultant Activism Personal Interview

172. Rt witean #t Fufaf@a sawisi &t 39 srgwa
# 7@ fored g1 urerH o wirar §-
PIS:

(i) WRIgYfa® qug R ST

(ii) IS qUT ST PrIaTS!

(iii) SMRfHS® ufebaTd

(iv) 3fd: &7 HrIfaar

PIS :

Place the following stages of the counseling process

in the sequence in which they are followed -

Code:

(i) Establishing empathetic understanding

(ii) Closing and follow-up action

(iii) Initial processes

(iv) Intervention strategies

Code:

@ (), (i), (v), (i) (b) (i), (i), (iv), (iii)
@ (), (i), G, Gii) (d) (), (i), (i), @)
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173. fufafad 4 9 $19-3 w.5.04. ard o6 & JHRRE
F AU ?
1. Ao Srarafhar & g s
Il. IS U | WHR IIgR ST Y& S0
IR THd BT
1. T9.E.09. ST & Ao & e ue=ia & S v
Which of the following are the benefits of inclusion
for students with S.E.N. Special Educational Needs?
I. Opportunities for social interaction
Il. Projecting and mimicking socially acceptable
behavior
lll. High standards of performance for the
development of SEN students.

(@ rayri (b) 1qurl

I and Il I and Il

() nayrm (d) I nayar
Iland Il I, Iland I

174. FE ¥ 3 SE-91 96 82
1. FETasft 3R U@t Rian g9 21
. YR ¥, faiy srazgedr o g1 & fawai
ol & FY | 7 AT 7
Which of the following is correct? Which of the
following is correct?
I. Inclusive and integrated education are same
Il. In India, children with special needs tend to be
perceived as children with disabilities.

@ 18R gHr (b) FHadl

Both I and |l Only |

© Aaragh d) Hadll

Neither | nor Il Only Il

175, e IuHvl el B gg [y w1 | e
Far ¢ & fafie faual & fere feaet udiemr faa
U™ ST B

............... The tool helps teachers to specify how
many test blanks to provide for different subjects.

(@) cxfie b) TEfic
Test Print Test Blue Print

(0 sqfiiex (d) 3TH Y BIS T
Blue Printer None of these

176. WTHIIG: P! Halta wieor Frafafea & 4 &g
el & fog wed IugeE &2
Generally, criterion referenced testing is best suited
for which of the following purposes?

(@) IPMITRWSAAR (b)) e 31 g8 I3 &
& 1Y Th pd H B TeE Bl b
DI Juded BT o I I faRy
AT Il & QT faar §

Comparing student

Helping teachers know

achievement in a school with  whether they have met their

those nationally

© uERyRdasmdnee ()
CRGIACAIE AR ES
T &b §IG T BT

specific objectives

M (b) 3R (¢)

Both (b) and (c)

Helping students determine
what to do after high school

177.  fugor e uferan & Aéed geuied F dH-HA
1 UEY /67
1. ATt
. eq & 79 ug
. Rgror nfafafirat
IV. Tedi®- @1 ufesar
which of the following is/are the aspects of
educational evaluation in teaching-learning
process?
I. Content
Il. Learning objectives
Ill. Learning activities
IV. Evaluation procedures

@ LI 3R (®) 1,11 3RV

11l .and 111 11,111 and IV

©  LILI 3R v @ L3RIV

LILIE and IV LIl and IV

178. gﬁ%mﬁ%aﬁﬁﬁaﬁ@aﬁﬁﬁq—mw
?
1. fafrear afsa = smemfa
1. ufshanant & ursushH A Jfvferd far sirar 21

Which of the following is true about the traditional
assessment ?

I. Based on medical model

Il. Procedures are included to curriculum

@ Hadll () 13RI
Only 1l Both I and Il

© Padl d) AdsRAG
Only | Neither | nor Il

179. 1&n & e & gaeor § arad g-

In the context of education, socialization means -
(@) IS HATSI®ITHA (b) HHISG qrdraRor d

HAT TH SR JHTASH
Respecting elders in the Adaptation and adjustment
society in social environment
(© UHINIS AMCSI Dl (d) 31U IS AFCS

TG ST AT ST
Always comply with social Creating Your Social Norms
norms

180. fufiafEd ¥ | F9-9T1 U 1 F FiTpia® ararazvr
DY HEY 3D | uRUIRT FHear g2

Which of the following best defines the cultural
environment of a country?
(@) AR R MfE (b)) D, FTUE HUN,
CEFR] Teg, TP 3R el

standard of living and Heroes, Fictions, Values,
economic development Perspectives and Symbols

(© IFaTE 3R ¥R d) IR g
Joogar

All of the above
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Nationalism and community
membership

181. U QU o ugd fpar Tt @ U et 31 g=ifelt
8 ST81 U WIYRYT g5 & GRT STd B i & U41q
UEOHT 81" 98 HU 5= &g U

A problem which has been show cased/presented
refers to a checkpoint where the unknown is to be
reached after a simple battle. Who said this

statement?
(a) il drean (b) TS BIA
George Polya N.J. Fyn
(© SiH @ @ F=dwm
G.N. Piaget Richard Skemp

182. 1944 ¥ T gRT ywafaa Rrem Ao F AR

Frafafea o & e19-a1|9d 78 2
Which of the following is NOT correct according to
scheme of education proposed by Gandhi in 1944?

(@ 143229 & (b) WX IYGH B IYED
CIRRICIRIE) fRref

Post basic education from Adult education of whole

14 to 22 years community

© 29799 ds U d) R @714
CISERSAN] qid a6

Pre basic schooling from 2 Schooling from 7 to 14 years

to 7 years

183. fuferfad & @ #19-91 U5 UPR $1 UregsH 81 82

Which of the following is not a type of curriculum?

(@) & 3MYTRd (o) fowg 3@
Competency based Subject oriented
(© ®R (d) BHSHE

Core Student oriented

184. U® Rerd g1 g ureusy & geais= § &
YfireT fAuTE ot 82
1. Rigrd @1 emaxa® FU A NUAIRe geisT &
gk} o RRuié st gl
1. e &1 graie ok wWifa I & afomal @1 s
& 1Y IS A1 AT |

What role is/are played by a teacher in the

evaluation of a planned curriculum?
I. Teacher should report the results of formal
assessments as required.
Il. Teacher should share the results of assessment
and progress grades with student.

(@ IR IEH (b) ®Had |
Both I and Il Only |

(© Hadll (d) AN
Only Il Neither | nor Il

185. YR WRAYM & f5a srgsde ¥ Srpyfa Sfaal
aﬁ?%aﬁﬁammﬁﬁ%ﬁfw&amww
T 82

In which article of the Indian constitution the
educational interests of SC/ST have been

protected?
(@) 58 (b)y 12
() 46 (d)y 23

186. TRr&m # 3ra”iy= &1 a1eud 8-

Meaning of stagnation in education is

(@) ua® &I fogea o (b) TS HI fdarag =

PENEREI ST
Taking not admission in Not going to school by the
school by the child child
© SIa6gRIGUEABIE (d) Fd aas F1F au
5l Y i IHT I Th
leaving the school by a GEZIERGE]
child Retention of a child in a
same class for more than
one year

187. TAGE.W.U. (NUEPA) &1 qul ®&U w7 82
NUEPA What is the full form of (NUEPA)?

(@) A sHC 3HH (b) AT 3feTd @ 3B

LerCiEE | BRI rCiEE BRI

National Indian Plan of

Educational Planning and Educational Planning and

Administration Administration

(0 " RFAAEREE A®E  (d) -=Md SA-Tiad T
THRHA @I T8 b TIHRIAA W
erCiEE BRI TS TS e

National Institute of

National In-Service Program
Educational Planning and of Educational Planning and
Administration Administration

188. faffEa & § o19-u1 s w5 2002 & wyaw Y
mw%a&ﬁwﬁﬁummmwg
1. T o= B RIfEra s
1. It 5= & fore wiwor
. I @) g A I91¢
Iv. ot o= Pl AR A BIS
Which of the following principles is/are adopted by
the special session on children of the United
Nations General Assembly in May 2002?
I.Educate every child
Il. Nutrition for all children
l1l. Protect children from war
IV. Leave no child out

National Instrument of

@ 11, 18RIV ®) 1, 13RIV
1,11, 11l and IV I, 1l and IV
© I, 13RIV @ 13RI
I, 11l and IV I, 1l and 1l

189. g@@aﬁﬁaﬁqﬁr&wﬁﬁw, 2019 & 3R
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1. B3 F=T, URMAS Rrem o8 g9 a@ feedt of wan
® qIU Tl 31 "Far 7 a1 FAspiRia T fear o
HHar gl

Il. = Y S YHT0T B HH & g yar & dfea 8t
far < wwar g1
Which of the following is correct according to Right
of Education Act, 2019?

I. No child can be held back in any class or expelled
till the completion of elementary education.

Il. Child cannot be denied of admission because of
lack in proof of age.

(@ 18R 11 EH (b) SHadl
Both I and |l Only |
© AT d FHadll
Neither I nor II Only Il

190. PN UTGUHH F IFAR TP (2005) ANRS Pi
S WUfe R R g fage ureawa &
Hram & g g1 wforutfia fvar s g1

According to National Curriculum Framework

(NCF), (2005), civics is replaced by which learning
area of social science in the curriculum at upper
primary stage?

(a) AT IR eI (b) AT I

Society and polity Social politics

(0 XrSiferes fawe (d) FHIRD 3R

RNERIGEACICE

Social and political life

191. FrafafEa & & #19-91 wger & Wia 3 175
AT 8 HHaT 72
I. ¥ger & wfaffRral g1 Sufufa &t AR
DATI
1. TSR & THAT & 1Y BT I GRS BRI
Rrar
Which of the following can be a method for
involving community?
I. Monitoring the attendance of community
representatives.
Il. Teaching vocational skills to students with
support from community.

Political science

@ Hadll (b) AdIATE
Only Il Neither | nor Il
© 13RIl (d) HadI
Only |
192. & A Tl & Tad g1 BT AHIFIT HRUT T 71 8
Tpar gl

What could not be the possible reason for things to
go wrong in a classroom?

(a) TSP e TSHS!| (b) e g SreR|
An external disturbance. The class is out of control.
(€ OHWRATINEI  (d) TP B LT
A student has not come to Bl %|

school An activity doesn't work

193. Ife $o AR Yol arct ST 3T 3MRIF 5 AT 3R
P | afeyd f&ar oI 3, af 39 3T B-----F =
T ST 7T 21 1. 3VRipd Sel/dal Sl 1. Jufias
Se1/ufed Se
If the data containing few distinct values is
arranged in ascending order or descending order,

then that data is known as ......... . Raw data Il.
Arrayed data

@ Padl (b) ddIARAL

Only | Neither | nor Il

© Hadll d) 1R A

Only Il Both I and Il

194. 39 T@d § & amfore fagm ot e & e oo
yatugl &1 uexle oRd &1 SUBl Wed Iugad
yiaferar gitt |
You see that students in social science class exhibit
some prejudices. will be your most appropriate

response.
(@) UGUSIREG JTEDH!  (b) TS guf b
U™ 5 B T STATHT IR Teb g
BT SIS M

| will stop teaching the

chapter being taught I will organize a discussion

on the dimensions of social

reality

( wRwWPEw@e™ () el e dfed
TRl M Easull

I will ignore these comments  Will punish the students

195. 3T ‘U IS0’ TS H e’ fawg wer1 38 &1 I & o
o 3 We B A9 & T I uR g §f i @
(P& VI, THR (AT 11 I8 AT 28) FTHIS fagm=
F 1@ g1 & A0 79 W -t $3a wwa
et RAfére AR = g
You are teaching the topic ‘Cholas’ in the lesson
‘New Kingdom'. Information on Tang Dynasty of
China is given in the section ‘Elsewhere’ at the end
of the lesson (Class VII, Our Past Il page no. 28)
Being a teacher of Social Science, what would be
your educational idea while discussing this?

(@) faaRd i Ags aal () s da®
& Ufd SITe e BT 3fcfid TR Heu T B
To make students aware of T AT YT DR

interesting facts Providing students with an
opportunity to reflect on

China's past

(© fafte ot & (d) foenfll 3 fay s
fceTiie fawr o BRNEGERE
AT dAT Introducing students to

Comparing historical world history

developments in different

societies

196. fodt efaeTRie quie &1 gaT9 wed awg Fafafea o

T fra 3e=a W foar farar s wnfger
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Which of the following objectives should be
considered when choosing a historical narrative?
(a) PRUTEHS T AR (b) HARS fFfg 1
frepy Rftd 3
Establishing causal
relationships and

make value judgments

conclusions

( deHEueTefial () YR Rl B
JOIR HAT Tegae &l

highlighting popular events (valorizing)

valorizing famous people
197. ﬁ%—? JAmar HH-1 sa R gfoea § 3@

Which skills are noticed in "picture dictation” other
than drawing?

(@ Uedl (b)  TTT
Reading Singing

() S () FT
Speaking Listening

198. forEa Y ufsran 31 3t et &l \AT T &2
Why is the writing process considered a good
thing?
(@) PSTAATIH DA (b) Ig A ufbar & U
H HERA BRI A | 3R i S
TR I A & Sear g

Many children take a long
time to master writing skills
(© Uep faasf wror
g sreRR FfeaT Wl
EESEE IR
Writing in foreign language
is majorly considered in

It adds one more dimension

to learning process

(d) IS BT HId P HINT
(SIS} Tidw) T ST
ERESECIl

No one can use body

language

finding error

199. TA. .. 1 Afdra v w7 32
What is the full form of NBT?

(a) AR oe ¢ (b) TdATIGTE
National Balance Trust Non-balance Trust

(€ ARFATH K d) SR SETEt

National Book Trust National Biography Trust

200. frufaf@a # ¥ F9-0 Rrefvn & qd Jar qur dar
# Rigre-Rien wrdwal & favg-avg & frg Ffgard

1. Tg ara 9t RRreret ot Siieh § smyrRyd udtorar
gt Trfeu|

. gt Riget $ uw I Rl ok w_l &
R Sfaa a8 | Eieh R &1 Fiwe g
aifgul

Which of the following recommendations has
implications for the content of pre-service and in
service teacher education programs?

I. All teaching teachers must have a basic
proficiency in English

I1. All teachers should have the skills to teach English
appropriately according to their conditions and

levels.
(@ | dATIEH () A iTL i
Both I and Il Neither | nor Il
(© ad | (d) Haall
Only | Only Il
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